
　

③ と 2

で 4 0

で

② 3 8 と 2

・ 38 ＋ 4 の 計算を しましょう。

3 8 ＋ 4 ① 4 は 2 と 2

で 5 0

③ 5 0 と 1 で

② 5 と 4 5

・ 6 ＋ 45 の 計算を しましょう。

6 ＋ 4 5 ① 6 は 1 と 5

で 2 0

③ 2 0 と 5 で

② 1 7 と 3

日にち：　　月　　日

名まえ

・ 17 ＋ 8 の 計算を しましょう。

1 7 ＋ 8 ① 8 は 3 と 5

１

① 例題

(うすい字はなぞりましょう。)

3 4
答え

(うすい字はなぞりましょう。)

5
答え

(うすい字はなぞりましょう。)

答え

2



　

2 で

7

5

2

で 0

と

4と 2

・ 6 ＋ 45 の 計算を しましょう。

4 5＋6

③ 4 0

② 3 8

① 6 は 1

5

と 5

で 2 5

日にち：　　月　　日

名まえ

で 2 0

と 53

・ 17 ＋ 8 の 計算を しましょう。

1 7 ＋ 8 ① 8 は

②

2 0 と③

1 と 3

② 5 と 4 で 5 0

0 と 1 で

4 2

5 1

・ 38 ＋ 4 の 計算を しましょう。

3 8 ＋ 4 ① 4 は と 2

③ 5

１

① 例題 答え

(うすい字はなぞりましょう。)

3 5
答え

(うすい字はなぞりましょう。)

1 5
答え

(うすい字はなぞりましょう。)

答え

2 2


